## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - August)

1		
2		RESOLUTION NO. <u>95-366</u>
3	WHEREAS,	the Tohono O'odham Council has reviewed the recommendations of
4		
5		the Enrollment Committee in accordance with Section 1 of Article
6		VIII of the Enrollment Ordinance, Ordinance No. 05-81, and has
7		
8		made a final determination that the application of the following
9		
10		applicants for membership in the Tohono O'odham Nation be
11		approved:
12		
13		ARTICLE II - MEMBERSHIP
14		SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS
15		1781-CK-85 CULLEN, Travis, K.
		2347-CK-95 CULLEN, Anthonie B.
16		2348-CK-95 CULLEN, Breanne J.
17		
18		3133-GA-95 HAVIER, Kandice T.
19		3134-GA-95 ANTONE, Wyatt James
20		3135-GA-95 ANTONE, Eric Lee
ŀ		3136-GA-95 LEWIS, Taylor James
21		1.00 CV of MADDYDDD A A G
22		1690-GV-95 MARRIETTA, Anita S.
23		1691-GV-95 MARRIETTA, Flora C.
24		1695-GV-95 RAMIREZ, Maria E.
25		1697-GV-95 NEVAREZ, Marisa G.
26		1706-H-95 LOPEZ, Leboria A.
25		

28

## **RESOLUTION NO. 95-366** (Enrollment - August) Page 2 of 5 ARTICLE II - MEMBERSHIP SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS 1719-P-95 WEBB, Debra M. 1720-P-95 WEBB, Elizabeth M. 1721-P-95 WEBB, Francisco Jr. 1722-P-95 WEBB, Yvonne A. 1723-P-95 ANTONIO, Arianna 1336-GB-95 ALMONDIA, Ricardo 1337-GB-95 ALMONDIA, Leah 1404-GB-95 OSEQUEDA, ISDRIO 1412-GB-95 OSEGUEDA, Anissa M. 1413-GB-95 MANUEL, Emilia J. M. G. 1414-GB-95 MANUEL, Francisco J. 1487-SX-89 CARRILLO, BETTINA M. 1567-SX-92 GOMEZ, Victoria A. 1675-SX-94 CANCIO, David Tapia 1676-SX-94 CRAMER, Yesenia Tapia 1677-SX-94 CRAMER, Aurelio O. 1678-SX-94 CRAMER, Dionicio O. 1708-SX-95 MUNGIA, Anissa A. 1742-SX-95 MAMAKE, Marco Ray 1746-SX-95 MORENO, Monique L.

23 | 1330-ST-91 GARCIA, Maria L.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

**20** 

21

22

25

**26** 

27

28

1452-ST-95 BAUTISTA, Brandon Earl

1747-SX-95 CORBITT, Michaela R.

3716-S-95 LEWIS, Shay A. 3718-S-95 CRUZ, Elizabeth L.

RESOLUTION NO. <u>95-366</u> (Enrollment - August)
Page 3 of 5

NOW, THEREFORE, BE IT RESOLVED that it hereby determined that the above named applicants are eligible for enrollment as members of the Tohono O'odham Nation under Section 1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation, and that their applications are approved, as herein above indicated.

BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono O'odham Nation reduce this final determination in

writing regarding each of the foregoing applications for enrollment

in accordance with Section 3(c) of Article III of the Enrollment

Ordinance; give notice of this Council's determination in accordance

with Section 4 of Article III of the Enrollment Ordinance; and place

the names of each applicant upon the membership roll of the

Tohono O'odham Nation in accordance with Article V of the

**Enrollment Ordinance.** 

The foregoing Resolution was passed by the Tohono O'Odham Council on the <u>07TH</u>, day of <u>AUGUST</u>, <u>1995</u> at a meeting at which a quorum was present with a vote of <u>1,876.0</u> FOR; <u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>[01]</u> ABSENT,

	RESOLUTION NO. <u>95-366</u>
	(Enrollment - August)
1	Page 4 of 5
2	
3	pursuant to the powers vested in the Council by Section <u>1</u> of Article II and
4	Section 1(h) of Article VI of the Constitution of the Tohono O'Odham Nation,
5	adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by
6	the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6,
7	1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
8	
9	
10	TOHONO O'ODHAM LEGISLATIVE COUNCIL
11	$A \sim 2$
	Nim Kinn
12	Dennis Ramon, Legislative Chairman
13	15 day of august , 19_
14	
15	
16	
17	ATTEST:
18	
19	Francis antone
20	Frances Antone, Legislative Secretary  14th day of
21	777° day or
22	
23	Said Resolution was submitted for approval to the office of the Chairman of the
24	Tohono O'Odham Nation on the
25	19 <u>95</u> at <u>10:47</u> o'clock, <u>A</u> .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or
26	upon his failure to either approve or disapprove it within 48 hours of submittal.
27	The state of the s
28	

	RESOLUTION NO. <u>95-366</u>	
	(Enrollment - August)	
1	Page 5 of 5	
2		
3	TOHONO O'ODHAM LEGISLATIVE COUNCIL	
4		
5		
6	$\mathcal{A}$	
7	Dennis Ramon, Legislative Chairman	
8	, <b>,,,,</b>	
9		
10	[X] APPROVED on the 15-th day of August, 1995	
11	on the 15 day of Angular , 15	-
12		
13	at 1:30 PM o'clock, P.M.	
14	[ ] DISAPPROVED at _/:30 ** o'clock, _FM.	
15		
16		
17	Q1 10 2 ()	
18	Mur Many	
19	EDWARD D. MANUEL, Chairman	
20	TOHONO O'ODHAM NATION	
21		
22		
23		
24	Returned to the Legislative Secretary on the 16th day of May of 1995, at 9:25 o'clock, A.M.	
25	August, 1995, at 9:25 o'clock, A.M.	
26	Francis antoni	
27	Frances Antone, Legislative Secretary	
28		

ACTION: APPROVING ENROLLMENT MEMBERSHIP APPLICATIONS - SECTION (b), AUGUST

MOVED: COUNCILMAN JOHN RENO SECOND: COUNCILMAN ALBERT MANUEL

**DATE:** AUGUST 07, 1995

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 160.0	1. MARY ANN ANTONE (Nellie Miguel)	80.0	х			· x
	2. RITA MARTINEZ (Maxine Norris)	80.0	х			
<b>SELLS</b> 314.0	1. JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.)	157.0	x			
	LUCILLE ENCINAS     (Cynthia Chico)	157.0	x			
SCHUK TOAK 117.0	1. KENNETH J. ANTONE	58.5	х			
117.0	2. MARY JANE JUAN-MOORE ( )	58.5	х			
SAN XAVIER 142.0	1. DENNIS RAMON ( )	71.0	x			
142.0	2. TONY BURRELL ( )	71.0	x	:		
BABOQUIVARI	EDWARD KISTO     (Idelia Stanley)	128.5	x			
257.0	2. FRANCES MIGUEL (Kenneth Chico, Sr.)	128.5	x			
GU ACHI	ALEX J. RAMON     (Marian Johnson)	93.5	х			,
187.0	2. WILLARD ANITA (Louis Johnson)	93.5	x			
PISINEMO 135.0	1. JOHNSON JOSE (Roseleen Antone)	67.5	x			
133.0	2. BARBARA SALVICIO ( )	67.5	х		·	
SAN LUCY	ALBERT MANUEL, JR.     ( )	52.5	x			
105.0	2. JOHN RENO (Mary Hoffman)	52.5	x			
GU VO	1. MICHAEL FLORES	67.0	х			
134.0	2. FERN SALCIDO (Larry Montana)	67.0	X			
HICKIWAN	LLOYD FRANCISCO .     ( )	71.0	х			
142.0	2. ALEX JOSE	71.0	x			
CHUKUT KUK	1. KENNETH WILLIAMS	91.5	х			
183.0	2. DAVID GARCIA (Marvin Thomas)	91.5	x			
	TOTAL	1,876.0	1,876.0	-0-	-0-	[01]